# Time-map analysis to establish the exact number of positive solutions of one-dimensional prescribed mean curvature equations 

Meiqiang Feng ${ }^{1 *}$ and Xuemei Zhang ${ }^{2}$

*Correspondence:
meiqiangfeng@sina.com
${ }^{1}$ School of Applied Science, Beijing Information Science \& Technology University, Beijing, 100192, Republic of China
Full list of author information is available at the end of the article


#### Abstract

We investigate the one-dimensional prescribed mean curvature equation with concave-convex nonlinearities in the form of $-\left(\frac{u^{\prime}}{\sqrt{1+u^{\prime 2}}}\right)^{\prime}=\lambda\left(u^{p}+u^{q}\right), u(x)>0,0<x<1$, $u(0)=u(1)=0$, where $\lambda>0$ is a parameter and $p, q$ satisfy $-1<p<q<+\infty$, and we obtain new exact results of positive solutions. Our methods are based on a detailed analysis of time maps.


Keywords: time-map analysis; exact number of solutions; one-dimensional prescribed mean curvature equation

## 1 Introduction

Mean curvature equations arise in differential geometry, physics, and other applied subjects. For example, the negative solutions of prescribed mean curvature equations can describe pendent liquid drops in the equilibrium state (see [1]), or the corneal shape (see [2]). In recent years, increasing attention has been paid to the study of the prescribed mean curvature equations by different methods (see [3-31]).

A typical model of the prescribed mean curvature equation is

$$
\begin{cases}-\operatorname{div}\left(\frac{\nabla u}{\sqrt{1+\|\nabla u\|^{2}}}\right)=\lambda f(t, u), & t \in R^{+}, u \in \Omega,  \tag{1.1}\\ u=0 & \text { on } \partial \Omega,\end{cases}
$$

where $\Omega$ is a bounded domain in $R^{N}$ and $f: \bar{\Omega} \times R^{+} \rightarrow R^{+}$is continuous.
It is well known that a solution $u$ of (1.1) defines a Cartesian surface in $R^{N+1}$ whose mean curvature is prescribed by the right-hand side of the equation. Classical existence theorems for this problem (and in particular for the minimal surface problem) are presented in [15] with references to the original papers by Bombieri, Finn, Miranda, etc. (see e.g. [1, $14,16]$ and the references therein). The existence theorems established in most of those papers are concerned with solutions of the prescribed mean curvature problem as global minimizers of the corresponding energy functionals. Some papers studied the prescribed mean curvature problems by using the sub-supersolution method (see [7, 17, 18, 28]), the

[^0]time-map analysis method (see [8, 9, 13, 19, 29-31]) or Mawhin's continuation theorem (see [20, 24-26]) and so on.
The one-dimensional version of (1.1) is
\[

\left\{$$
\begin{array}{l}
-\left(\frac{u^{\prime}}{\sqrt{1+u^{\prime}}}\right)^{\prime}=\lambda f(t, u), \quad a<t<b  \tag{1.2}\\
u(a)=u(b)=0
\end{array}
$$\right.
\]

There are some papers considering the exact number of positive solutions of (1.2) in special case of $f$ (see $[6,8,9,11-13,19,28-31])$. The study derived from an open problem proposed by Ambrosetti et al. in [32], which concerned the exact number and the detailed property of solutions of the semilinear equation

$$
\left\{\begin{array}{l}
-u^{\prime \prime}=\lambda\left(u^{p}+u^{q}\right), \quad u>0 \text { in }(0,1) \\
u(0)=u(1)=0
\end{array}\right.
$$

where $0<p<1<q<+\infty$. Since then, related problems have been studied by many authors; see [33-36] and the references cited therein.
Generally, it is difficult to obtain the exact multiplicity results for nonlinear boundary value problems. If the operator $-u^{\prime \prime}$ is replaced by $-\left(\frac{u^{\prime}}{\sqrt{1+u^{\prime 2}}}\right)^{\prime}$, then the problems will become more complicated. In [6], Habets and Omari considered the nonlinear boundary value problem of the one-dimensional prescribed mean curvature equation with $f(t, u)=$ $u^{p}$, where $p>0$. By using an upper and lower solution method, the authors obtained the exactness results of positive solutions. In [8], Pan and Xing derived the exact numbers of positive solutions of (1.2) for the nonlinearities $f(t, u)=(1+u)^{p}(p>0), f(t, u)=e^{u}-1$, and $f(t, u)=a^{u}(a>0)$.

However, there are few articles dealing with the case involving negative exponent. We note that, in particular, Bonheure et al. [28] is the first paper where the problem with singularities has been considered. In [28], the authors considered a general class of $f(t, u)$ involving a singularity, and they obtained the result that there exists a positive solution for a small parameter, and they pointed out $f(t, u)=u^{-p},(R-u)^{-q}, u^{-p}(R-u)^{-q}($ where $p, q>0)$ as the special case. In [30] and [12], the authors studied global bifurcation diagrams and the exact multiplicity of positive solutions for the cases $f(t, u)=(1-u)^{-2}$ and $f(t, u)=(1-u)^{-p}$ ( $p>0$ ), respectively.

In [9], Li and Liu examined problem (1.2) for $f(t, u)=u^{p}+u^{q}$ with $0<p<q<1$ or $1<p<$ $q<+\infty$. Very recently, the authors [19] studied the exact number of solutions of problem (1.2) for $f(t, u)=u^{p}+u^{q}$ with $0<p<1<q<+\infty$. However, to the best of our knowledge, no paper has considered the exact number of solutions of problem (1.2) with $-1<p<q<+\infty$ till now. In this paper, we will try to solve it.
Consider the following boundary value problem of the one-dimensional prescribed mean curvature equation:

$$
\left\{\begin{array}{l}
-\left(\frac{u^{\prime}}{\sqrt{1+u^{\prime 2}}}\right)^{\prime}=\lambda\left(u^{p}+u^{q}\right),  \tag{1.3}\\
u(x)>0, \quad 0<x<1 \\
u(0)=u(1)=0
\end{array}\right.
$$

where $-1<p<q<+\infty$ and $\lambda>0$ is a parameter. In this paper, a positive solution is a function $u \in C[0,1] \cap C^{2}(0,1)$ satisfying (1.3).

The rest of this paper is organized as follows. In Section 2, we introduce and analyze the time map which plays a key role in the paper. The main result will be stated and proved in Section 3.

## 2 Time maps

In this section, we will make a detailed analysis of the so-called time map of problem (1.3).
Let $u(x)$ be a solution of problem (1.3). Then it is well known that $u(x)$ takes its maximum at $c=\frac{1}{2}, u(x)$ is symmetric with respect to $c, u^{\prime}(x)>0$ for $0 \leq x<c$ and $u^{\prime}(x)<0$ for $c<x \leq 1$. Hence problem (1.3) is equivalent to the following problem defined on $[0, c]$ :

$$
\left\{\begin{array}{l}
-\left(\frac{u^{\prime}}{\sqrt{1+u^{\prime 2}}}\right)^{\prime}=\lambda\left(u^{p}+u^{q}\right),  \tag{2.1}\\
u(x)>0, \quad 0<x<c \\
u(0)=u^{\prime}(c)=0
\end{array}\right.
$$

Denote

$$
f(u)=u^{p}+u^{q}, \quad f_{\lambda}(u)=\lambda\left(u^{p}+u^{q}\right)
$$

and

$$
F(u)=\frac{u^{p+1}}{p+1}+\frac{u^{q+1}}{q+1}, \quad F_{\lambda}(u)=\lambda\left(\frac{u^{p+1}}{p+1}+\frac{u^{q+1}}{q+1}\right)
$$

Let $v=\frac{u^{\prime}}{\sqrt{1+u^{\prime 2}}}$. If $u(x)$ is a solution of (2.1) with $s=u(c)$, then $(u, v)$ is a solution of the following problem defined on $[0, c]$ :

$$
u^{\prime}=\frac{v}{\sqrt{1-v^{2}}}, \quad v^{\prime}=-f_{\lambda}(u), \quad u(0)=0, \quad u(c)=s, \quad v(c)=0
$$

Since $H(x)=\sqrt{1-v^{2}(x)}-1-F_{\lambda}(u(x))$ satisfies

$$
\frac{d H(x)}{d x}=\frac{-v(x)}{\sqrt{1-v^{2}(x)}}\left(v^{\prime}(x)+f_{\lambda}(u(x))\right) \equiv 0,
$$

and $H(c)=-F_{\lambda}(s)$, we see that

$$
\begin{equation*}
F_{\lambda}(s)-F_{\lambda}(u)=1-\frac{1}{\sqrt{1+u^{\prime 2}}} . \tag{2.2}
\end{equation*}
$$

Therefore,

$$
u^{\prime}=\frac{\sqrt{\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\left[2-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\right]}}{1-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)} .
$$

Then

$$
\begin{equation*}
\frac{1-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)}{\sqrt{\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\left[2-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\right]}} d u=d x . \tag{2.3}
\end{equation*}
$$

Integrating (2.3) from 0 to $c$, it leads to

$$
\begin{equation*}
T(\lambda, s)=\int_{0}^{s} \frac{1-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)}{\sqrt{\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\left[2-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\right]}} d u=\frac{1}{2} . \tag{2.4}
\end{equation*}
$$

The function $T(\lambda, s)$ is called the time map of $f$.
Choosing $x=0$ in (2.2), we see that $F_{\lambda}(s)<1$ and

$$
\begin{equation*}
0<s<\alpha(\lambda)=F_{\lambda}^{-1}(1) . \tag{2.5}
\end{equation*}
$$

Therefore, if $u(x)$ is a solution of (2.1) with $u\left(\frac{1}{2}\right)=s$, then $s$ satisfies (2.4) and (2.5). Conversely, for a given $\lambda$, if $s$ satisfies (2.4) and (2.5), then (2.2) together with $u(0)=0$ defines a function $u(x)$ on $\left[0, \frac{1}{2}\right]$ which satisfies $u\left(\frac{1}{2}\right)=s$ and $u^{\prime}\left(\frac{1}{2}\right)=0$, and then it is easy to see that $u(x)$ is a solution of (2.1) with $u\left(\frac{1}{2}\right)=s$. So the number of solutions of (2.1) is equal to the number of $s$ satisfying (2.4) and (2.5). This leads us to investigate the shape of the graph of $T(\lambda, s)$.

Let $\Sigma=\{(\lambda, s): \lambda \in(0,+\infty), s \in(0, \alpha(\lambda)]\}$. From (2.4) and (2.5) we see that $T$ is defined on $\Sigma$ by

$$
\begin{equation*}
T(\lambda, s)=\int_{0}^{s} \frac{1-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)}{\sqrt{\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\left[2-\left(F_{\lambda}(s)-F_{\lambda}(u)\right)\right]}} d u . \tag{2.6}
\end{equation*}
$$

For simplicity, we write

$$
\begin{aligned}
& \xi=\xi_{\lambda}(s, t)=F_{\lambda}(s)-F_{\lambda}(s t)=\lambda\left[\frac{s^{p+1}}{p+1}\left(1-t^{p+1}\right)+\frac{s^{q+1}}{q+1}\left(1-t^{q+1}\right)\right] \\
& \Delta F=F_{\lambda}(s)-F_{\lambda}(u), \quad \Delta \bar{f}=s f_{\lambda}(s)-u f_{\lambda}(u), \quad \Delta \bar{f}^{\prime}=s^{2} f_{\lambda}^{\prime}(s)-u^{2} f_{\lambda}^{\prime}(u)
\end{aligned}
$$

It follows that

$$
\begin{equation*}
T(\lambda, s)=s \int_{0}^{1} \frac{1-\xi}{\sqrt{\xi(2-\xi)}} d t \tag{2.7}
\end{equation*}
$$

The following lemmas give the properties of $T(\lambda, s)$.

Lemma 2.1 ([19]) $T(\lambda, s)$ has continuous derivatives up to the second order on $\Sigma$ with respect to $s$ and

$$
\begin{align*}
T_{s}(\lambda, s)= & \int_{0}^{1} \frac{\xi(1-\xi)(2-\xi)-\lambda\left[s^{p+1}\left(1-t^{p+1}\right)+s^{q+1}\left(1-t^{q+1}\right)\right]}{[\xi(2-\xi)]^{3 / 2}} d t \\
= & \frac{1}{s} \int_{0}^{s} \frac{\Delta F(1-\Delta F)(2-\Delta F)-\Delta \bar{f}}{[\Delta F(2-\Delta F)]^{3 / 2}} d u,  \tag{2.8}\\
T_{s s}(\lambda, s)= & \frac{3}{s} \int_{0}^{1} \frac{(1-\xi) \lambda^{2}\left[s^{p+1}\left(1-t^{p+1}\right)+s^{q+1}\left(1-t^{q+1}\right)\right]^{2}}{[\xi(2-\xi)]^{5 / 2}} d t \\
& -\int_{0}^{1} \frac{\lambda\left[(p+2) s^{p}\left(1-t^{p+1}\right)+(q+2) s^{q}\left(1-t^{q+1}\right)\right]}{[\xi(2-\xi)]^{3 / 2}} d t \\
= & \frac{1}{s^{2}} \int_{0}^{s} \frac{3(1-\Delta F) \Delta \bar{f}^{2}-\left(\Delta \bar{f}^{\prime}+2 \Delta \bar{f}\right) \Delta F(2-\Delta F)}{[\Delta F(2-\Delta F)]^{5 / 2}} d u . \tag{2.9}
\end{align*}
$$

Lemma 2.2 $T(\lambda, s)$ is strictly decreasing on $\Sigma$ with respect to $\lambda$.

Proof By a direct calculation, we have

$$
T_{\lambda}(\lambda, s)=s \int_{0}^{1} \frac{-\xi^{2}(2-\xi)-\xi(1-\xi)^{2}}{\lambda[\xi(2-\xi)]^{3 / 2}} d t<0
$$

which implies that $T(\lambda, s)$ is strictly decreasing on $\Sigma$ with respect to $\lambda$.

Lemma $2.3([19]) \alpha(\lambda)$ is strictly decreasing on $(0,+\infty)$ with respect to $\lambda$, and

$$
\lim _{\lambda \rightarrow 0^{+}} \alpha(\lambda)=+\infty, \quad \lim _{\lambda \rightarrow+\infty} \alpha(\lambda)=0
$$

Lemma 2.4 (1) For fixed $\lambda_{0}>0, T\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)>0$.
(2) For fixed $\lambda_{0}>0$,

$$
\begin{aligned}
& \lim _{s \rightarrow 0^{+}} T\left(\lambda_{0}, s\right)= \begin{cases}0, & -1<p<1 \\
\frac{\pi}{2 \sqrt{\lambda_{0}}}, & p=1 \\
+\infty, & p>1\end{cases} \\
& \lim _{s \rightarrow 0^{+}} T_{s}\left(\lambda_{0}, s\right)= \begin{cases}+\infty, & -1<p<1 \\
-\infty, & p=1,1<q<2 \\
<0, & p=1, q=2 \\
=0, & p=1, q>2 \\
-\infty, & p>1\end{cases}
\end{aligned}
$$

(3) Denote $\omega(\lambda)=\sup \{T(\lambda, s) \mid 0<s \leq \alpha(\lambda)\}$. Then $\omega(\lambda)$ is continuous, strictly decreasing on $(0,+\infty)$, and

$$
\lim _{\lambda \rightarrow 0^{+}} \omega(\lambda)=+\infty, \quad \lim _{\lambda \rightarrow+\infty} \omega(\lambda)=0
$$

(4) Let $\eta(\lambda)=T(\lambda, \alpha(\lambda))$. Then $\eta(\lambda)$ is continuous and

$$
\lim _{\lambda \rightarrow 0^{+}} T(\lambda, \alpha(\lambda))=+\infty, \quad \lim _{\lambda \rightarrow+\infty} T(\lambda, \alpha(\lambda))=0 .
$$

Furthermore, if $T_{s}(\lambda, s) \geq 0$, then $\eta^{\prime}(\lambda)<0$; if $T_{s}(\lambda, s)<0$, then $\eta^{\prime}(\lambda)<0$ under the condition $q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}$.
(5) If $-1<p<0,1<q<+\infty$, then there exists $\bar{\lambda}>0$ such that for fixed $0<\lambda_{0} \leq \bar{\lambda}$, $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$.
(6) If $-1<p<0,0<q \leq 1$, then there exist $0<\hat{\lambda}<\tilde{\lambda}<\infty$ such that for fixed $0<\lambda_{0} \leq \hat{\lambda}$, $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$ and for fixed $\lambda_{0} \geq \tilde{\lambda}, T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)>0$.
(7) Assume that $p<q=1$. If $p \geq \sqrt{\frac{\pi+2}{\sqrt{2} \ln (\sqrt{2}+1)+2}}-1 \approx 0.2585$, then for fixed $\lambda_{0}>0$, $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$.

Proof For fixed $\lambda_{0}>0$. It is clear that

$$
T\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)=\int_{0}^{\alpha\left(\lambda_{0}\right)} \frac{F_{\lambda_{0}}(u)}{\sqrt{1-F_{\lambda_{0}}^{2}(u)}} d u>0 .
$$

On the other hand, by the uniformly convergent of integral a direct calculation, we obtain

$$
\begin{aligned}
\lim _{s \rightarrow 0^{+}} T\left(\lambda_{0}, s\right) & =\lim _{s \rightarrow 0^{+}} s^{\frac{1-p}{2}} \int_{0}^{1} \frac{1-\xi}{\sqrt{\lambda_{0}\left[\frac{1}{p+1}\left(1-t^{p+1}\right)+\frac{s^{q-p}}{q+1}\left(1-t^{q+1}\right)\right](2-\xi)}} d t \\
& = \begin{cases}0, & -1<p<1, \\
\frac{\pi}{2 \sqrt{\lambda_{0}}}, & p=1, \\
+\infty, & p>1 .\end{cases}
\end{aligned}
$$

If $p \neq 1$,

$$
\begin{aligned}
& \lim _{s \rightarrow 0^{+}} T_{s}\left(\lambda_{0}, s\right) \\
&= \lim _{s \rightarrow 0^{+}} s^{-\frac{1+p}{2}} \int_{0}^{1}\left(\lambda_{0}\left[\frac{1}{p+1}\left(1-t^{p+1}\right)+\frac{s^{q-p}}{q+1}\left(1-t^{q+1}\right)\right](1-\xi)(2-\xi)\right. \\
&\left.-\lambda_{0}\left[\left(1-t^{p+1}\right)+s^{q-p}\left(1-t^{q+1}\right)\right]\right) \\
& / \sqrt{\left[\lambda_{0}\left(\frac{1}{p+1}\left(1-t^{p+1}\right)+\frac{s^{q-p}}{q+1}\left(1-t^{q+1}\right)\right)(2-\xi)\right]^{3}} d t \\
&= \lim _{s \rightarrow 0^{+}} s^{-\frac{1+p}{2}} \int_{0}^{1} \frac{\lambda_{0} \frac{1-p}{p+1}\left(1-t^{p+1}\right)}{\left[\lambda_{0} \frac{2}{p+1}\left(1-t^{p+1}\right)\right]^{\frac{3}{2}}} d t \\
&= \begin{cases}+\infty, & -1<p<1, \\
-\infty, & p>1 .\end{cases}
\end{aligned}
$$

If $p=1$, then by the L'Hopital rule we have

$$
\begin{aligned}
& \lim _{s \rightarrow 0^{+}} T_{s}\left(\lambda_{0}, s\right) \\
& \quad=\lim _{s \rightarrow 0^{+}} \int_{0}^{1} \frac{\lambda_{0}(1-q) s^{q}\left(1-t^{q+1}\right)}{\frac{3}{2} \sqrt{8}\left[\lambda_{0}\left(\frac{s^{2}}{2}\left(1-t^{2}\right)+\frac{s^{q+1}}{q+1}\left(1-t^{q+1}\right)\right)\right]^{\frac{1}{2}}\left[\lambda_{0}\left(s\left(1-t^{2}\right)+s^{q}\left(1-t^{q+1}\right)\right)\right]} d t \\
& \quad= \begin{cases}-\infty, & 1<q<2, \\
<0, & q=2, \\
=0, & q>2 .\end{cases}
\end{aligned}
$$

So the results (1) and (2) are proved.
The results of (3) can be proved in the same way as in Lemma 3.2 of [9].

Next to prove that the result (4) holds. By the chain rule of differentiation, we have

$$
T^{\prime}(\lambda, \alpha(\lambda))=\frac{\partial T}{\partial \lambda}+\frac{\partial T}{\partial s} \alpha^{\prime}(\lambda)
$$

Since $\frac{\partial T}{\partial \lambda}<0, \alpha^{\prime}(\lambda)<0$, we obtain $T^{\prime}(\lambda, \alpha(\lambda))<0$ in the case of $\frac{\partial T}{\partial s} \geq 0$.
If $\frac{\partial T}{\partial s}<0$, by the fact that

$$
T(\lambda, \alpha(\lambda))=\int_{0}^{\alpha} \frac{F_{\lambda}(u)}{\sqrt{1-F_{\lambda}^{2}(u)}} d u=\int_{0}^{1} \frac{s}{\sqrt{1-s^{2}}} \frac{1}{f_{\lambda}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)} d s
$$

we have

$$
T^{\prime}(\lambda, \alpha(\lambda))=\int_{0}^{1} \frac{s}{\sqrt{1-s^{2}}}\left[\frac{1}{f_{\lambda}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)}\right]^{\prime} d s
$$

Let $\gamma(\lambda)=\frac{1}{f_{\lambda}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)}=\frac{1}{\lambda f\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)}$. Then

$$
\begin{aligned}
\gamma^{\prime}(\lambda) & =-\frac{f\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)+\lambda f^{\prime}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right) \frac{1}{f\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)}\left(-\frac{s}{\lambda^{2}}\right)}{f_{\lambda}^{2}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)} \\
& =-\frac{f^{2}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)-f^{\prime}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right) F\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)}{f_{\lambda}^{2}\left(F^{-1}\left(\frac{s}{\lambda}\right)\right) f\left(F^{-1}\left(\frac{s}{\lambda}\right)\right)} .
\end{aligned}
$$

Let $F^{-1}\left(\frac{s}{\lambda}\right)=v$. Since

$$
f^{2}(v)-f^{\prime}(v) F(v)=\frac{1}{p+1} v^{2 p}+\frac{1}{q+1} v^{2 q}+\left(2-\frac{q}{p+1}-\frac{p}{q+1}\right) v^{p+q}
$$

by $q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}$, we have $f^{2}(v)-f^{\prime}(\nu) F(v) \geq 0$. It follows that $T^{\prime}(\lambda, \alpha(\lambda))<0$.
Other parts are similar to the proof of Lemma 2.3 in [9]. So we omit them. Next we prove that the result (5) holds.
Let $\bar{a}=\left(\frac{1-p}{q-1}\right)^{\frac{1}{q-p}}$, then there exists $\bar{\lambda}>0$ such that $F_{\bar{\lambda}}(\bar{a})=\sqrt{\frac{p+2}{3}}$, and $F_{\bar{\lambda}}(u)<\sqrt{\frac{p+2}{3}}$ for $0<u<\bar{a}, F_{\bar{\lambda}}(u)>\sqrt{\frac{p+2}{3}}$ for $\bar{a}<u \leq \alpha(\bar{\lambda})$. For fixed $0<\lambda_{0} \leq \bar{\lambda}$, for simplicity, we denote $\alpha\left(\lambda_{0}\right)$ by $\alpha$. It follows from (2.8) that

$$
\begin{equation*}
T_{s}\left(\lambda_{0}, \alpha\right)=\frac{1}{\alpha} \int_{0}^{\alpha} \frac{F_{\lambda_{0}}(u)-F_{\lambda_{0}}^{3}(u)-\alpha f_{\lambda_{0}}(\alpha)+u f_{\lambda_{0}}(u)}{\left[1-F_{\lambda_{0}}^{2}(u)\right]^{3 / 2}} d u . \tag{2.10}
\end{equation*}
$$

Let

$$
\begin{equation*}
G(u)=F_{\lambda_{0}}(u)-F_{\lambda_{0}}^{3}(u)-\alpha f_{\lambda_{0}}(\alpha)+u f_{\lambda_{0}}(u) . \tag{2.11}
\end{equation*}
$$

Then we can see that $G(0)=-\alpha f_{\lambda_{0}}(\alpha)<0, G(\alpha)=0$, and

$$
\begin{align*}
G^{\prime}(u) & =\left(2-3 F_{\lambda_{0}}^{2}(u)\right) f_{\lambda_{0}}(u)+u f_{\lambda_{0}}^{\prime}(u) \\
& =\lambda_{0}\left[\left(2-3 F_{\lambda_{0}}^{2}(u)\right)\left(u^{p}+u^{q}\right)+p u^{p}+q u^{q}\right] \\
& =\lambda_{0}\left[\left(2+p-3 F_{\lambda_{0}}^{2}(u)\right) u^{p}+\left(2+q-3 F_{\lambda_{0}}^{2}(u)\right) u^{q}\right] . \tag{2.12}
\end{align*}
$$

It is obvious that $G^{\prime}(u)>0$ for $0<u \leq \bar{a}$. If $\bar{a}<u<\alpha$, then $u^{q}>\left(\frac{1-p}{q-1}\right) u^{p}$, by (2.12) we have

$$
\begin{aligned}
G^{\prime}(u) & >\lambda_{0}\left[\left(2+p-3 F_{\lambda_{0}}^{2}(u)\right)+\left(2+q-3 F_{\lambda_{0}}^{2}(u)\right)\left(\frac{1-p}{q-1}\right)\right] u^{p} \\
& >\left[(p-1)+(q-1)\left(\frac{1-p}{q-1}\right)\right] u^{p}=0 .
\end{aligned}
$$

It follows that $G^{\prime}(u)>0, \forall \bar{a}<u<\alpha$. Then $G(u)<0$, which implies that $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$.
Then the result (5) is proved.
Now we prove that the result (6) holds.
By (2.6) we have

$$
\begin{equation*}
T(\lambda, s)=\int_{0}^{F_{\lambda}(s)} \frac{1-y}{\sqrt{y(2-y)}} \frac{1}{f_{\lambda}\left(F_{\lambda}^{-1}\left(F_{\lambda}(s)-y\right)\right)} d y \tag{2.13}
\end{equation*}
$$

Then

$$
\begin{align*}
& T_{s}(\lambda, s) \\
&= \int_{0}^{F_{\lambda}(s)} \frac{1-y}{\sqrt{y(2-y)}} \frac{-f_{\lambda}^{\prime}\left(F_{\lambda}^{-1}\left(F_{\lambda}(s)-y\right)\right) \frac{1}{f_{\lambda}\left(F_{\lambda}^{-1}\left(F_{\lambda}(s)-y\right)\right.} f_{\lambda}(s)}{f_{\lambda}^{2}\left(F_{\lambda}^{-1}\left(F_{\lambda}(s)-y\right)\right)} d y \\
&+\frac{1-F_{\lambda}(s)}{\sqrt{F_{\lambda}(s)\left(2-F_{\lambda}(s)\right)}} \frac{f_{\lambda}(s)}{f_{\lambda}\left(F_{\lambda}^{-1}(0)\right)} . \tag{2.14}
\end{align*}
$$

It follows that

$$
\begin{align*}
T_{s} & (\lambda, \alpha(\lambda)) \\
& =\int_{0}^{1} \frac{1-y}{\sqrt{y(2-y)}} \frac{-f_{\lambda}^{\prime}\left(F_{\lambda}^{-1}(1-y)\right) \frac{1}{f_{\lambda}\left(F_{\lambda}^{-1}(1-y)\right)} f_{\lambda}(\alpha(\lambda))}{f_{\lambda}^{2}\left(F_{\lambda}^{-1}(1-y)\right)} d y \\
& =-\int_{0}^{\alpha} \frac{F_{\lambda}(u)}{\sqrt{1-F_{\lambda}^{2}(u)}} \frac{\left.f_{\lambda}^{\prime}(u)\right)_{\lambda}(\alpha)}{f_{\lambda}^{2}(u)} d u \\
& =-\int_{0}^{1} \frac{F_{\lambda}(\alpha t)}{\sqrt{1-F_{\lambda}^{2}(\alpha t)}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} d t \\
& \leq-\int_{0}^{1} \frac{t^{q+1}}{\sqrt{1-t^{2 q+2}}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} d t . \tag{2.15}
\end{align*}
$$

If there exists $\tilde{\lambda}$ such that $\alpha(\tilde{\lambda})=\left(-\frac{p}{q}\right)^{\frac{1}{q-p}}$, then from the third formula of (2.15) and the fact that $f^{\prime}(u)<0$ for $0<u<\left(-\frac{p}{q}\right)^{\frac{1}{q-p}}$ we have $T_{s}(\lambda, \alpha(\lambda))>0$ for $\lambda \geq \tilde{\lambda}$.

On the other hand, from (2.15), by a simple calculation we can see that $\lim _{\lambda \rightarrow 0^{+}} T_{s}(\lambda$, $\alpha(\lambda))<0$. In fact, by the last formula of (2.15), we have

$$
\lim _{\lambda \rightarrow 0^{+}} \int_{0}^{1} \frac{t^{q+1}}{\sqrt{1-t^{2 q+2}}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} d t=\int_{0}^{1} \frac{t^{q+1}}{\sqrt{1-t^{2 q+2}}} \lim _{\lambda \rightarrow 0^{+}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} d t
$$

where

$$
\begin{aligned}
& \lim _{\lambda \rightarrow 0^{+}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} \\
& \quad=\lim _{\lambda \rightarrow 0^{+}} \frac{p \alpha^{2 p} t^{p-1}+q \alpha^{2 q} t^{q-1}+\left(p t^{p-1}+q t^{q-1}\right) \alpha^{p+q}}{(\alpha t)^{2 p}+2(\alpha t)^{p+q}+(\alpha t)^{2 q}} \\
& \quad=\lim _{\lambda \rightarrow 0^{+}} \frac{p \alpha^{2(p-q)} t^{p-1}+q t^{q-1}+\left(p t^{p-1}+q t^{q-1}\right) \alpha^{p-q}}{\alpha^{2(p-q)} t^{2 p}+2 \alpha^{p-q} t^{p+q}+t^{2 q}} \\
& \quad=q t^{-(q+1)} .
\end{aligned}
$$

Then

$$
\lim _{\lambda \rightarrow 0^{+}} \int_{0}^{1} \frac{t^{q+1}}{\sqrt{1-t^{2 q+2}}} \frac{f_{\lambda}^{\prime}(\alpha t) \alpha f_{\lambda}(\alpha)}{f_{\lambda}^{2}(\alpha t)} d t=\int_{0}^{1} \frac{q}{\sqrt{1-t^{2 q+2}}} d t>0 .
$$

It follows that $\lim _{\lambda \rightarrow 0^{+}} T_{s}(\lambda, \alpha(\lambda))<0$. Then there exists $\hat{\lambda}>0$ such that $T_{s}(\lambda, \alpha(\lambda))<0$ for $0<\lambda \leq \hat{\lambda}$. This proves (6).

Note that $t^{q+1}<t^{p+1}$ for $0<t<1$ and $F_{\lambda}(\alpha)=1$, it follows from (2.8) that

$$
\begin{align*}
& T_{s}\left(\lambda_{0}, \alpha\right) \\
& \quad=\int_{0}^{1} \frac{\lambda_{0}\left(\frac{(\alpha t)^{p+1}}{p+1}+\frac{(\alpha t)^{q+1}}{q+1}\right)}{\left[1-\lambda_{0}^{2}\left(\frac{(\alpha t)^{p+1}}{p+1}+\frac{(\alpha t)^{q+1}}{q+1}\right)^{2}\right]^{1 / 2}} d t-\int_{0}^{1} \frac{\lambda_{0}\left[\alpha^{p+1}\left(1-t^{p+1}\right)+\alpha^{q+1}\left(1-t^{q+1}\right)\right]}{\left[1-\lambda_{0}^{2}\left(\frac{(\alpha t)^{p+1}}{p+1}+\frac{(\alpha t)^{q+1}}{q+1}\right)^{2}\right]^{3 / 2}} d t \\
& \quad<\int_{0}^{1} \frac{t^{p+1}}{\left(1-t^{2 p+2}\right)^{1 / 2}} d t-\int_{0}^{1} \frac{(p+1)\left[1-\lambda_{0}\left(\frac{(\alpha t)^{p+1}}{p+1}+\frac{\left(\alpha t t^{q+1}\right.}{q+1}\right)\right]}{\left[1-\lambda_{0}^{2}\left(\frac{(\alpha t)^{p+1}}{p+1}+\frac{\left.\left.(\alpha t)^{q+1}\right)^{2}\right]^{3 / 2}}{q+1} d t\right.\right.} \\
& \quad<\int_{0}^{1} \frac{t^{p+1}}{\left(1-t^{2 p+2}\right)^{1 / 2}} d t-(p+1) \int_{0}^{1} \frac{d t}{\left(1-t^{q+1}\right)^{1 / 2}\left(1+t^{p+1}\right)^{3 / 2}} . \tag{2.16}
\end{align*}
$$

The first integral in (2.16) can be estimated as

$$
\begin{align*}
\int_{0}^{1} & \frac{t^{p+1}}{\left(1-t^{2 p+2}\right)^{1 / 2}} d t \\
& =\frac{1}{p+1} \int_{0}^{1} t d \arcsin \left(t^{p+1}\right) \\
& =\frac{\pi}{2(p+1)}-\frac{1}{p+1} \int_{0}^{1} \arcsin \left(t^{p+1}\right) d t \\
& <\frac{\pi}{2(p+1)}-\frac{1}{p+1} \int_{0}^{1} t \arcsin \left(t^{2}\right) d t \\
\quad & \frac{\pi+2}{4(p+1)} . \tag{2.17}
\end{align*}
$$

For the second integral in (2.16), we see that

$$
\begin{aligned}
& \int_{0}^{1} \frac{d t}{\left(1-t^{q+1}\right)^{1 / 2}\left(1+t^{p+1}\right)^{3 / 2}} \\
& \quad>\int_{0}^{1} \frac{d t}{\left(1-t^{2}\right)^{1 / 2}(1+t)^{3 / 2}}
\end{aligned}
$$

$$
\begin{align*}
& =2 \int_{0}^{1} \frac{1}{\left(2-v^{2}\right)^{2}} d v \\
& =\frac{\sqrt{2} \ln (\sqrt{2}+1)+2}{4} . \tag{2.18}
\end{align*}
$$

Here the transformation $v=(1-t)^{1 / 2}$ has been used. Combining (2.16), (2.17) with (2.18) we can see if

$$
p \geq \sqrt{\frac{\pi+2}{\sqrt{2} \ln (\sqrt{2}+1)+2}}-1
$$

then $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$. This proves (7).

Remark 2.1 It follows from the proof of (6) that if $q>1$ then the conclusion of (6) still holds.

Remark 2.2 From the proof of [9], one can see that the inequality

$$
\begin{equation*}
q \leq \frac{p-2+\sqrt{p^{2}+20 p+20}}{2}, \quad 1<p<q<+\infty, \tag{2.19}
\end{equation*}
$$

plays an important role in guaranteeing that $T(\lambda, \alpha(\lambda))$ is decreasing on $\lambda$. In (4) of Lemma 2.4, we replace (2.19) by

$$
q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}
$$

and the method used to prove that $T(\lambda, \alpha(\lambda))$ is decreasing on $\lambda$ is completely different from that of [9].

Remark 2.3 It follows from the proof of [9] that the inequality

$$
\begin{equation*}
p \geq\left(\frac{\pi+2}{\sqrt{2} \ln (\sqrt{2}+1)+2}\right)^{1 / 2}-1, \quad 0<p<q<1 \tag{2.20}
\end{equation*}
$$

guarantees that $T_{s}^{\prime}(\lambda, \alpha)<0$. If $p$ and $q$ satisfy $p=0,0<q \leq 2 ; p=1,1<q \leq 4 ;-1<p<0$, $1<q<+\infty$, and $-1<p<0,0<q \leq 1$, we can prove that $T_{s}^{\prime}(\lambda, \alpha)<0$ without the inequality (2.20); see, for example, the proof of (5), (6) in Lemma 2.4.

The proofs of Lemmas 2.5 and 2.6 are similar to those of [37]. So we omit them.
Lemma 2.5 For $s \in(0,+\infty)$, we have

$$
\sup _{0 \leq u<s} \frac{\Delta \bar{f}}{\Delta F}=\frac{f_{\lambda}(s)+s f_{\lambda}^{\prime}(s)}{f_{\lambda}(s)}=1+\frac{p s^{p}+q s^{q}}{s^{p}+s^{q}} .
$$

Lemma 2.6 For $s \in(0,+\infty)$, we have

$$
\min _{0 \leq u \leq s} \frac{\Delta \bar{f}^{\prime}}{\Delta \bar{f}}=\left.\frac{\Delta \bar{f}^{\prime}}{\Delta \bar{f}}\right|_{u=0}=\frac{s f_{\lambda}^{\prime}(s)}{f_{\lambda}(s)}=\frac{p s^{p}+q s^{q}}{s^{p}+s^{q}}
$$

The proof of Lemma 2.7 is similar to Lemma 2.7 in [19]. For convenience of the reader, we prove it in the following.

Lemma 2.7 Suppose that $-\frac{1}{3} \leq p<q<+\infty$. Let

$$
M=\sup _{0 \leq u<s} \frac{\Delta \bar{f}}{\Delta F}, \quad m=\min _{0 \leq u \leq s} \frac{\Delta \bar{f}^{\prime}}{\Delta \bar{f}} .
$$

For fixed $\lambda_{0} \in(0,+\infty)$, we have

$$
\begin{equation*}
T_{s s}\left(\lambda_{0}, s\right)+\frac{M}{2 s} T_{s}\left(\lambda_{0}, s\right)<0, \quad s \in\left(0, \alpha\left(\lambda_{0}\right)\right] . \tag{2.21}
\end{equation*}
$$

Proof From Lemma 2.5 and Lemma 2.6, we have $M-m=1$. We still use the symbols such as $\Delta F, \Delta \bar{f}$, and $\Delta \bar{f}^{\prime}$ when $\lambda$ is replaced by $\lambda_{0}$, so we have

$$
\begin{aligned}
& T_{s s}\left(\lambda_{0}, s\right)+\frac{M}{2 s} T_{s}\left(\lambda_{0}, s\right) \\
&= \int_{0}^{s}\left(3(1-\Delta F) \Delta \bar{f}^{2}-\left(\Delta \bar{f}^{\prime}+2 \Delta \bar{f}\right) \Delta F(2-\Delta F)\right. \\
&\left.+\frac{M}{2} \Delta F(2-\Delta F)[\Delta F(1-\Delta F)(2-\Delta F)-\Delta \bar{f}]\right) \\
& \quad /\left(s^{2}[\Delta F(2-\Delta F)]^{5 / 2}\right) d u
\end{aligned}
$$

Let

$$
\begin{aligned}
Q= & 3(1-\Delta F) \Delta \bar{f}^{2}-\left(\Delta \bar{f}^{\prime}+2 \Delta \bar{f}\right) \Delta F(2-\Delta F) \\
& +\frac{M}{2} \Delta F(2-\Delta F)[\Delta F(1-\Delta F)(2-\Delta F)-\Delta \bar{f}]
\end{aligned}
$$

and

$$
\mu=\frac{\Delta \bar{f}}{\Delta F}, \quad \Gamma(s)=s f_{\lambda}(s)-\frac{2}{3} F_{\lambda}(s) .
$$

Then for $s \in(0,+\infty)$, we have

$$
\begin{aligned}
\Gamma^{\prime}(s) \Sigma & =s f_{\lambda}^{\prime}(s)+\frac{1}{3} f_{\lambda}(s) \\
& =\lambda s^{p}\left[\left(p+\frac{1}{3}\right)+\left(q+\frac{1}{3}\right) s^{q-p}\right] .
\end{aligned}
$$

By the fact that $p \geq-\frac{1}{3}$, we have $\Gamma^{\prime}(s)>0$ for $s \in(0,+\infty)$.
It follows that

$$
\left[s f_{\lambda}(s)-\frac{2}{3} F_{\lambda}(s)\right]-\left[u f_{\lambda}(u)-\frac{2}{3} F_{\lambda}(u)\right]>0, \quad 0<u<s<\infty .
$$

Therefore, for $0<u<s<\infty$ we have

$$
\frac{s f_{\lambda}(s)-u f_{\lambda}(u)}{F_{\lambda}(s)-F_{\lambda}(u)}>\frac{2}{3},
$$

i.e.,

$$
\mu=\frac{\Delta \bar{f}}{\Delta F}>\frac{2}{3} .
$$

Hence

$$
\begin{aligned}
Q & =\Delta F^{2}(2-\Delta F)\left[\frac{3(1-\Delta F)}{2-\Delta F} \frac{\Delta \bar{f}^{2}}{\Delta F^{2}}-\left(\frac{\Delta \bar{f}^{\prime}}{\Delta F}+2 \frac{\Delta \bar{f}}{\Delta F}\right)+\frac{M}{2}\left[(1-\Delta F)(2-\Delta F)-\frac{\Delta \bar{f}}{\Delta F}\right]\right] \\
& \leq \Delta F^{2}(2-\Delta F)\left[\frac{3}{2} \mu^{2}-\left(m+2+\frac{M}{2}\right) \mu+M\right] \\
& =\frac{3}{2} \Delta F^{2}(2-\Delta F)\left[\mu^{2}-\left(M+\frac{2}{3}\right) \mu+\frac{2}{3} M\right] \\
& =\frac{3}{2} \Delta F^{2}(2-\Delta F)(\mu-M)\left(\mu-\frac{2}{3}\right) .
\end{aligned}
$$

Since $\frac{2}{3}<\mu \leq M$, we have $Q \leq 0$ and then (2.21) follows.

## 3 Main results

In this section, we apply the Lemmas 2.1-2.7 to establish the exact number of solutions for problem (1.3). We consider the following six cases: $p=0,0<q \leq 2 ; p=1,1<q \leq 4 ; q=1$, $0<p<1 ;-1<p<q \leq 0 ;-\frac{1}{3} \leq p<0,1<q<+\infty$, and $-\frac{1}{3} \leq p<0,0<q \leq 1$. Case $p=0$, $0<q \leq 2$ is treated in the following theorem.

Theorem 3.1 Assume that $p=0,0<q \leq 2$. Then there exist $0<\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.

Proof For fixed $\lambda_{0}>0$, by (2.15) and the fact that $f^{\prime}(u)>0$ we have $T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$. Combining this with Lemma 2.7, for fixed $\lambda_{0}>0, T\left(\lambda_{0}, s\right)$ has only one critical point $s_{0}$, which is a maximum point, and $T_{s}\left(\lambda_{0}, s\right)>0$ for $0<s<s_{0}, T_{s}\left(\lambda_{0}, s\right)<0$ for $s_{0}<s<\alpha\left(\lambda_{0}\right)$. From $p<q \leq 2$ and (4) of Lemma 2.4, we know that $T(\lambda, \alpha(\lambda))$ is strictly decreasing in $(0,+\infty)$. Selecting $\lambda_{*}>0$ such that $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$, we obtain $T(\lambda, \alpha(\lambda))>\frac{1}{2}$ for $0<\lambda<\lambda_{*}$. Combining this with the fact that $\lim _{s \rightarrow 0^{+}} T(\lambda, s)=0$ and the continuity of $T(\lambda, s)$ we see that there is only one $s$ satisfying (2.4) for $0<\lambda<\lambda_{*}$.

Choosing $\lambda^{*}>\lambda_{*}$ such that $\max _{0<s<\alpha\left(\lambda^{*}\right)} T\left(\lambda^{*}, s\right)=\frac{1}{2}$, there is only one $s$ satisfying (2.4) for $\lambda=\lambda^{*}$ and no $s$ satisfying (2.4) for $\lambda>\lambda^{*}$ by (3) of Lemma 2.4.
When $\lambda_{*} \leq \lambda<\lambda^{*}$, by the fact that $\max _{0<s<\alpha(\lambda)} T(\lambda, s)>\frac{1}{2}$ and $T(\lambda, \alpha(\lambda))<\frac{1}{2}$, it follows that there are two $s$ satisfying (2.4). Theorem 3.1 is proved.

The following theorem deals with the case $p=1,1<q \leq 4$.

Theorem 3.2 Assume that $p=1,1<q \leq 4$. Then there exist $0<\lambda_{*}<\pi^{2}$ such that (1.3) has exactly one solution for $\lambda \in\left[\lambda_{*}, \pi^{2}\right]$ and no solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left(\pi^{2},+\infty\right)$.

Proof From (2.8) we see that

$$
\begin{aligned}
& (1-\xi) \xi(2-\xi)-\lambda\left[s^{2}\left(1-t^{2}\right)+s^{q+1}\left(1-t^{q+1}\right)\right] \\
& \quad \leq 2 \xi-\lambda\left[s^{2}\left(1-t^{2}\right)+s^{q+1}\left(1-t^{q+1}\right)\right]=\lambda \frac{1-q}{q+1} s^{q+1}\left(1-t^{q+1}\right) \leq 0 ;
\end{aligned}
$$

then $T_{s}(\lambda, s)<0$, it follows that $T(\lambda, s)$ is decreasing on $s$.
On the other hand, by (2) of Lemma 2.4, we know $\lim _{s \rightarrow 0^{+}} T(\lambda, s)=\frac{\pi}{2 \sqrt{\lambda}}$. Then for fixed $\lambda \in(0,+\infty), \sup _{s \in(0, \alpha(\lambda)]} T(\lambda, s)=\frac{\pi}{2 \sqrt{\lambda}}, \min _{s \in(0, \alpha(\lambda)]} T(\lambda, s)=T(\lambda, \alpha(\lambda))$.

From $p=1,1<q \leq 4$ and (4) of Lemma 2.4, we know that $T(\lambda, \alpha(\lambda))$ is strictly decreasing in $(0,+\infty)$. Selecting $\lambda_{*}>0$ such that $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$, we obtain $T(\lambda, \alpha(\lambda))>\frac{1}{2}$ for $0<$ $\lambda<\lambda_{*}$. Then there is no $s$ satisfying (2.4) for $0<\lambda<\lambda_{*}$.
If $\sup _{0<s<\alpha(\lambda)} T(\lambda, s)=\frac{1}{2}$, then $\lambda=\pi^{2}$ and there is no $s$ satisfying (2.4) for $\lambda>\pi^{2}$. By the monotone property of $T(\lambda, s)$ on $s$ we see that there is only one $s$ satisfying (2.4) for $\lambda_{*} \leq$ $\lambda \leq \pi^{2}$. This completes the proof.

Case 3: $q=1,0<p<1$.

Theorem 3.3 Assume that $0<p<1, q=1$. Then the following conclusions hold.
(a) For any $\lambda>0$, (1.3) has at most two solutions.
(b) There exist $0<\lambda_{1}<\lambda_{2}<+\infty$ such that (1.3) has exactly one solution for $0<\lambda<\lambda_{1}$ and has no solution for $\lambda>\lambda_{2}$.
(c) If, in addition, $p \geq \sqrt{\frac{\pi+2}{\sqrt{2} \ln (\sqrt{2}+1)+2}}-1 \approx 0.2585$, then there exist $0<\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.

Proof By Lemma 2.7, for $\lambda_{0} \in(0,+\infty), T\left(\lambda_{0}, s\right)$ has at most one maximum point $s_{0} \in$ $\left(0, \alpha\left(\lambda_{0}\right)\right]$. If $s_{0}=\alpha\left(\lambda_{0}\right)$, then $T_{s}\left(\lambda_{0}, s\right)>0$ for $0<s<\alpha\left(\lambda_{0}\right)$. In this case there is at most one $s$ satisfying (2.4) for some $\lambda_{0}$. If $s_{0}<\alpha\left(\lambda_{0}\right)$, then $T_{s}\left(\lambda_{0}, s\right)>0$ for $0<s<s_{0}$ and $T_{s}\left(\lambda_{0}, s\right)<0$ for $s_{0}<s<\alpha\left(\lambda_{0}\right)$. Then there are at most two $s$ satisfying (2.4) for some $\lambda_{0}$. It follows that (1.3) has at most two solutions. This proves (a).

Let $\lambda_{2}>0$ such that $\max _{0<s<\alpha\left(\lambda_{2}\right)} T\left(\lambda_{2}, s\right)=\frac{1}{2}$. By (3) of Lemma 2.4, we see that there is no $s$ satisfying (2.4) for $\lambda>\lambda_{2}$.
On the other hand, by $\lim _{\lambda \rightarrow 0^{+}} T(\lambda, \alpha(\lambda))=+\infty$, there exists $\lambda_{1}>0$ such that $T(\lambda, \alpha(\lambda))>$ $\frac{1}{2}$ for $0<\lambda<\lambda_{1}$. Combining this with the proof of (a) we see that there is only one $s$ satisfying (2.4) for $0<\lambda<\lambda_{1}$. This gives (b).
Considering (c), from $0<p<1, q=1$, and (4) of Lemma 2.4, we know that $T(\lambda, \alpha(\lambda)$ ) is strictly decreasing in $(0,+\infty)$. Selecting $\lambda_{*}>0$ such that $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$, we obtain $T(\lambda, \alpha(\lambda))>\frac{1}{2}$ for $0<\lambda<\lambda_{*}$. Then there is only one $s$ satisfying (2.4) for $0<\lambda<\lambda_{*}$.
By (7) of Lemma 2.4, for fixed $\lambda_{0} \in(0,+\infty), T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$. Combining this with Lemma 2.7, $T\left(\lambda_{0}, s\right)$ has only one critical point $s_{0}$, which is a maximum point, and $T_{s}\left(\lambda_{0}, s\right)>0$ for $0<s<s_{0}, T_{s}\left(\lambda_{0}, s\right)<0$ for $s_{0}<s<\alpha\left(\lambda_{0}\right)$.

Choosing $\lambda^{*}>\lambda_{*}$ such that $\max _{0<s<\alpha\left(\lambda^{*}\right)} T\left(\lambda^{*}, s\right)=\frac{1}{2}$, there is one $s$ satisfying (2.4) for $\lambda=\lambda^{*}$ and no $s$ satisfying (2.4) for $\lambda>\lambda^{*}$ by (3) of Lemma 2.4.

When $\lambda_{*} \leq \lambda<\lambda^{*}$, by the fact that $\max _{0<s<\alpha(\lambda)} T(\lambda, s)>\frac{1}{2}$ and $T(\lambda, \alpha(\lambda))<\frac{1}{2}$, it follows that there are two $s$ satisfying (2.4). Theorem 3.3 is proved.

Case 4: $-1<p<q \leq 0$.

Theorem 3.4 Assume that $-1<p<q \leq 0$. Then there exists $\lambda_{*}>0$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right]$, and no solution for $\lambda \in\left(\lambda_{*},+\infty\right)$.

Proof From Lemma 2.4 we know $\lim _{s \rightarrow 0^{+}} T(\lambda, s)=0$ for fixed $\lambda>0$. By (2.14) and the fact that $f^{\prime}(u)<0$ we have $T_{s}(\lambda, s)>0$. Then for fixed $\lambda>0, \max _{s \in(0, \alpha(\lambda)]} T(\lambda, s)=T(\lambda, \alpha(\lambda))$. Combing this with (4) of Lemma 2.4, there exists $\lambda_{*}>0$ such that $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$ and $T(\lambda, \alpha(\lambda))>\frac{1}{2}$ for $0<\lambda<\lambda^{*}, T(\lambda, \alpha(\lambda))<\frac{1}{2}$ for $\lambda>\lambda^{*}$. Then (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right]$, and no solution for $\lambda \in\left(\lambda_{*},+\infty\right)$.

Case 5: $-\frac{1}{3} \leq p<0,1<q<+\infty$.

Theorem 3.5 Assume that $-\frac{1}{3} \leq p<0,1<q<+\infty$. Then the following conclusions hold.
(a) For any $\lambda>0$, (1.3) has at most two solutions.
(b) There exist $0<\lambda_{1}<\lambda_{2}<+\infty$ such that (1.3) has exactly one solution for $0<\lambda<\lambda_{1}$ and has no solution for $\lambda>\lambda_{2}$.
(c) Furthermore, suppose that $q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}$ holds. Let $\bar{\lambda}$ be defined in the same way as in (5) of Lemma 2.4.
(i) If $\bar{\lambda}$ is such that $\max _{0<s<\alpha(\bar{\lambda})} T(\bar{\lambda}, s) \leq \frac{1}{2}$, then there exist $0<\lambda_{*}<\lambda^{*} \leq \bar{\lambda}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.
(ii) If $\bar{\lambda}$ is such that $\max _{0<s<\alpha(\bar{\lambda})} T(\bar{\lambda}, s)>\frac{1}{2}$.

Case 1. If $T(\bar{\lambda}, \alpha(\bar{\lambda}))<\frac{1}{2}$, then there exist $0<\lambda_{*}<\bar{\lambda}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \bar{\lambda}\right]$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.
Case 2. If $T(\bar{\lambda}, \alpha(\bar{\lambda}))>\frac{1}{2}$, then there exist $0<\bar{\lambda}<\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.
Case 3. If $T(\bar{\lambda}, \alpha(\bar{\lambda}))=\frac{1}{2}$, then there exist $0<\bar{\lambda}=\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.

Proof The proof of (a), (b) is similar to that of Theorem 3.3.
Considering (c)(i), from $q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}$ and (4) of Lemma 2.4, we know that $T(\lambda, \alpha(\lambda))$ is strictly decreasing in $(0,+\infty)$. Selecting $\lambda_{*}>0$ such that $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$, we obtain $T(\lambda, \alpha(\lambda))>\frac{1}{2}$ for $0<\lambda<\lambda_{*}$. Then there is only one $s$ satisfying (2.4) for $0<\lambda<\lambda_{*}$.
By (5) of Lemma 2.4, for fixed $\lambda_{0} \in(0, \bar{\lambda}], T_{s}\left(\lambda_{0}, \alpha\left(\lambda_{0}\right)\right)<0$. Combining this with Lemma 2.7, $T\left(\lambda_{0}, s\right)$ has only one critical point $s_{0}$, which is a maximum point, and $T_{s}\left(\lambda_{0}, s\right)>0$ for $0<s<s_{0}, T_{s}\left(\lambda_{0}, s\right)<0$ for $s_{0}<s<\alpha\left(\lambda_{0}\right)$.
If $\max _{0<s<\alpha(\bar{\lambda})} T(\bar{\lambda}, s)<\frac{1}{2}$, choosing $0<\lambda^{*}<\bar{\lambda}$ such that $\max _{0<s<\alpha\left(\lambda^{*}\right)} T\left(\lambda^{*}, s\right)=\frac{1}{2}$, there is one $s$ satisfying (2.4) for $\lambda=\lambda^{*}$ and no $s$ satisfying (2.4) for $\lambda>\lambda^{*}$ by (3) of Lemma 2.4. If $\max _{0<s<\alpha(\bar{\lambda})} T(\bar{\lambda}, s)=\frac{1}{2}$, then let $\lambda^{*}=\bar{\lambda}$.

When $\lambda_{*} \leq \lambda<\lambda^{*}$, by the fact that $\max _{0<s<\alpha(\lambda)} T(\lambda, s)>\frac{1}{2}$ and $T(\lambda, \alpha(\lambda))<\frac{1}{2}$, it follows that there are two $s$ satisfying (2.4). The proof of (c)(i) is complete.
Next, turning to (c)(ii), since $\max _{0<s<\alpha(\bar{\lambda})} T(\bar{\lambda}, s)>\frac{1}{2}$, there exists $\lambda^{*}>\bar{\lambda}$ such that $\max _{0<s<\alpha\left(\lambda^{*}\right)} T\left(\lambda^{*}, s\right)=\frac{1}{2}$ and there is no $s$ satisfying (2.4) for $\lambda>\lambda^{*}$.

By the fact $T\left(\lambda_{*}, \alpha\left(\lambda_{*}\right)\right)=\frac{1}{2}$, if $T(\bar{\lambda}, \alpha(\bar{\lambda}))<\frac{1}{2}$, then we have $\bar{\lambda}>\lambda_{*}$; if $T(\bar{\lambda}, \alpha(\bar{\lambda}))>\frac{1}{2}$, then we have $\bar{\lambda}<\lambda_{*}$; if $T(\bar{\lambda}, \alpha(\bar{\lambda}))=\frac{1}{2}$, then we have $\bar{\lambda}=\lambda_{*}$. The proof of the other conclusions follows by a similar method to (c)(i). Then the result (c)(ii) follows.

Remark If we assume that $-\frac{1}{3} \leq p<0,0<q \leq 1$, then we have similar results to those of Theorem 3.5. It is worth to point that $\bar{\lambda}$ is different from that of Theorem 3.5 in this case. Then we have Theorem 3.6.

Case 6: $-\frac{1}{3} \leq p<0,0<q \leq 1$.

Theorem 3.6 Assume that $-\frac{1}{3} \leq p<0,0<q \leq 1$. Then the following conclusions hold.
(a) For any $\lambda>0$, (1.3) has at most two solutions.
(b) There exist $0<\lambda_{1}<\lambda_{2}<+\infty$ such that (1.3) has exactly one solution for $0<\lambda<\lambda_{1}$ and has no solution for $\lambda>\lambda_{2}$.
(c) Furthermore, suppose that $q \leq \frac{2 p+1}{2}+\sqrt{2 p+\frac{9}{4}}$ holds. Let $\hat{\lambda}$ be defined in the same way as in (6) of Lemma 2.4.
(i) If $\hat{\lambda}$ is such that $\max _{0<s<\alpha(\hat{\lambda})} T(\hat{\lambda}, s) \leq \frac{1}{2}$, then there exist $0<\lambda_{*}<\lambda^{*} \leq \hat{\lambda}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.
(ii) If $\hat{\lambda}$ is such that $\max _{0<s<\alpha(\hat{\lambda})} T(\hat{\lambda}, s)>\frac{1}{2}$.

Case 1. If $T(\hat{\lambda}, \alpha(\hat{\lambda}))<\frac{1}{2}$, then there exist $0<\lambda_{*}<\hat{\lambda}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \hat{\lambda}\right]$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.
Case 2. If $T(\hat{\lambda}, \alpha(\hat{\lambda}))>\frac{1}{2}$, then there exist $0<\hat{\lambda}<\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.

Case 3. If $T(\hat{\lambda}, \alpha(\hat{\lambda}))=\frac{1}{2}$, then there exist $0<\hat{\lambda}=\lambda_{*}<\lambda^{*}<+\infty$ such that (1.3) has exactly one solution for $\lambda \in\left(0, \lambda_{*}\right) \cup\left\{\lambda^{*}\right\}$, exactly two solutions for $\lambda \in\left[\lambda_{*}, \lambda^{*}\right)$, and no solution for $\lambda \in\left(\lambda^{*},+\infty\right)$.

## Competing interests

The authors declare that they have no competing interests

## Authors' contributions

MF completed the main study and carried out the results of this article. XZ checked the proofs and verified the calculation. All the authors read and approved the final manuscript.

## Author details

${ }^{1}$ School of Applied Science, Beijing Information Science \& Technology University, Beijing, 100192, Republic of China
${ }^{2}$ Department of Mathematics and Physics, North China Electric Power University, Beijing, 102206, Republic of China.

## Acknowledgements

This work is sponsored by the project NSFC $(11301178,11171032)$, the Fundamental Research Funds for the Centra Universities (2014MS58) and the improving project of graduate education of Beijing Information Science and Technology University (YJT201416). The authors are grateful to the anonymous referees for their constructive comments and suggestions, which have greatly improved this paper.

Received: 17 March 2014 Accepted: 28 July 2014 Published online: 25 September 2014

## References

1. Finn, R: Equilibrium Capillary Surfaces. Springer, New York (1986)
2. Okrasiński, W, Plociniczak, L: A nonlinear mathematical model of the corneal shape. Nonlinear Anal., Real World Appl. 13, 1498-1505 (2012)
3. del Pino, M, Guerra, I: Ground states of a prescribed mean curvature equation. J. Differ. Equ. 241, 112-129 (2007)
4. Obersnel, F, Omari, P: The periodic problem for curvature-like equations with asymmetric perturbations. J. Differ. Equ. 251,1923-1971 (2011)
5. Clement, P, Manasevich, R, Mitidieri, E: On a modified capillary equation. J. Differ. Equ. 124, 343-358 (1996)
6. Habets, P, Omari, P: Multiple positive solutions of a one-dimensional prescribed mean curvature problem. Commun. Contemp. Math. 9, 701-730 (2007)
7. Habets, P, Omari, P: Positive solutions of an indefinite prescribed mean curvature problem on a general domain. Adv. Nonlinear Stud. 4, 1-13 (2004)
8. Pan, H, Xing, R: Time maps and exact multiplicity results for one-dimensional prescribed mean curvature equations Nonlinear Anal. 74, 1234-1260 (2011)
9. Li, W, Liu, Z: Exact number of solutions of a prescribed mean curvature equation. J. Math. Anal. Appl. 367, 486-498 (2010)
10. Kusahara, T, Usami, H: A barrier method for quasilinear ordinary differential equations of the curvature type Czechoslov. Math. J. 50, 185-196 (2000)
11. Le, $V$ : Variational method based on finite dimensional approximation in a generalized prescribed mean curvature problem. J. Differ. Equ. 246, 3559-3578 (2009)
12. Cheng, Y, Hung, K, Wang, S: Global bifurcation diagrams and exact multiplicity of positive solutions for a one-dimensional prescribed mean curvature problem arising in MEMS. Nonlinear Anal. 89, 284-298 (2013)
13. Pan, $\mathrm{H}, \mathrm{Xing}, \mathrm{R}:$ A note on the nonexistence of solutions for prescribed mean curvature equations on a ball. Nonlinear Anal. 74, 7437-7445 (2011)
14. Bombieri, E, Giusti, E: Local estimates for the gradient of non-parametric surfaces of prescribed mean curvature Commun. Pure Appl. Math. 26, 381-394 (1973)
15. Gilbarg, D, Trudinger, N: Elliptic Partial Differential Equations of Second Order. Springer, Berlin (1983)
16. Miranda, D: Dirichlet problem with $L^{1}$ data for the non-homogeneous minimal surface equation. Indiana Univ. Math. J. 24, 227-241 (1974)
17. Pan, H, Xing, R: Sub- and supersolution methods for prescribed mean curvature equations with Dirichlet boundary conditions. J. Differ. Equ. 254, 1464-1499 (2013)
18. Le, V: On a sub-supersolution method for the prescribed mean curvature problem. Czechoslov. Math. J. 58, 541-560 (2008)
19. Zhang, X, Feng, M: Exact number of solutions of a one-dimensional prescribed mean curvature equation with concave-convex nonlinearities. J. Math. Anal. Appl. 395, 393-402 (2012)
20. Feng, M: Periodic solutions for prescribed mean curvature Liénard equation with a deviating argument. Nonlinear Anal., Real World Appl. 13, 1216-1223 (2012)
21. Coffman, CV, Ziemer, WK: A prescribed mean curvature problem on domains without radial symmetry. SIAM J. Math. Anal. 22, 982-990 (1991)
22. Conti, M, Gazzola, F: Existence of ground states and free-boundary problems for the prescribed mean-curvature equation. Adv. Differ. Equ. 7, 667-694 (2002)
23. Pašić, M: New oscillation criteria for second-order forced quasilinear functional differential equations. Abstr. Appl. Anal. 2013, Article ID 735360 (2013)
24. Wang, D: Existence and uniqueness of periodic solution for prescribed mean curvature Rayleigh type p-Laplacian equation. J. Appl. Math. Comput. (2013). doi:10.1007/s12190-013-0745-2
25. Liang, Z, Lu, S: Homoclinic solutions for a kind of prescribed mean curvature Duffing-type equation. Adv. Differ. Equ. 2013, 279 (2013)
26. Li, J, Wang, Z: Existence and uniqueness of anti-periodic solutions for prescribed mean curvature Rayleigh equations. Bound. Value Probl. 2012, 109 (2012)
27. Bonheure, D, Habets, P, Obersnel, F, Omari, P: Classical and non-classical solutions of a prescribed curvature equation. J. Differ. Equ. 243, 208-237 (2007)
28. Bonheure, D, Habets, P, Obersnel, F, Omari, P: Classical and non-classical positive solutions of a prescribed curvature equation with singularities. Rend. Ist. Mat. Univ. Trieste 39, 63-85 (2007)
29. Pan, H: One-dimensional prescribed mean curvature equation with exponential nonlinearity. Nonlinear Anal. 70, 999-1010 (2009)
30. Pan, H, Xing, R: Exact multiplicity results for a one-dimensional prescribed mean curvature problem related to MEMS models. Nonlinear Anal., Real World Appl. 13, 2432-2445 (2012)
31. Brubaker, N, Pelesko, J: Analysis of a one-dimensional prescribed mean curvature equation with singular nonlinearity. Nonlinear Anal. 75, 5086-5102 (2012)
32. Ambrosetti, A, Brezis, H, Cerami, G: Combined effects of concave and convex nonlinearities in some elliptic problems J. Funct. Anal. 122, 519-543 (1994)
33. Liu, Z, Zhang, X: A class of two-point boundary value problems. J. Math. Anal. Appl. 254, 599-617 (2001)
34. Feng, M , Zhang, X, Ge, W: Exact number of solutions for a class of two-point boundary value problems with one-dimensional $p$-Laplacian. J. Math. Anal. Appl. 338, 784-792 (2008)
35. Wang, S, Yeh, T: On the exact structure of positive solutions of an Ambrosetti-Brezis-Cerami problem and its generalization in one space variable. Differ. Integral Equ. 17, 17-44 (2004)
36. Korman, P: Uniqueness and exact multiplicity of solutions for a class of Dirichlet problems. J. Differ. Equ. 244, 2602-2613 (2008)
37. Smoller, J, Wasserman, A: Global bifurcation of steady-state solutions. J. Differ. Equ. 39, 269-290 (1981)

## doi:10.1186/s13661-014-0193-4

Cite this article as: Feng and Zhang: Time-map analysis to establish the exact number of positive solutions of one-dimensional prescribed mean curvature equations. Boundary Value Problems 2014 2014:193.


[^0]:    © 2014 Feng and Zhang; licensee Springer. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly credited

